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1.(6%)# y=In(x+1) » FHFELHEUATF =R : (l)dy (2)

dxz 4
2.(6%)3 x =log,(8” -1) » «k——( FA e I B R A K F R HEB AL S)

3.(6%)Evaluate dz using the given information .
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Dz= o ; x=4,y=-4,dx=0.01,dy =0.03. )% %’%{@mii

@)z =In(x? +?) i x=2,y=3,dc=002,dy=—0.03.
R @ t) ZS( ZH .
4.(10%)3% 4 B [(11.98)7 + (5.01)7 [543 818 69 285 F ik 3t K. ﬁwz,fa’e

5.(8%) f(x,y,z):]n(x"+2yzz+xz),*: L xn2)s [,(x0.2)s [o(x0.2)s f,(x),2)-
6.(10%)If y=x-4In(3x-9),(1)Find the critical ?ﬁi’nt Eé%%;!'a). (2)Find the open intervals where the

. . . . - o
function is increasing or decreasing. b

7.(8%) 3% B A & U (x,y) = xy* +4x+2 B — B AR (1)K MRS (x,y) - Q)35 F 1% & B el 7 ik,

x Y o (RS R ).
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8.(10%)102 34 2 A HE 7 1K 89 FLAE & P(1) = 300,000 2 » b t A%, P AL - Kb A ML K ()
B R RAE.GRY LA e X B AR MAUE2 BARE P )

9.(12%) R BHAERE (1) £ () =xvx+1. (2) £(0) = 12211 :

10.(12%) K48 45 4a (1) F(x)=x° =3x2 —24x+32. (2) f(x)=x>.
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11.(12%)% f(x) =

C(DFBT RS Mo Efed T &R, (2)3E4% i 49 R dh 2.
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12. 10%) B4 xy—y* =4 » ()X Q)—=.
(10%)E %o xy - y a‘a()dx()dx2






